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Write Memory Cycle
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Write Memory Cycle

(cont)
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Write - Output Cycle

Section 8.18 (partial)

L —owwee-— Writing to an Output
\ ‘ ‘ Port is similar to the
N S — Write Memory cycle

except the IO/M line
does not go low in T1
(indicating it is a IO
function, not memory)




Address Latch

ADO0-AD7 are multiplexed
T1 — they are address lines
T3 — they are data lines

How can we have the FULL Physical address
available when we read/write to memory or
1/0?

D-Latch

* When Clock is
inactive (low) the
outputs (Q and Q’) are
kept at their previous
values

¢ When Clock is Active, Ck | D | Qe
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D-Latch

¢ We know that in T1

— ADO0-AD?7 contains the
low byte of the address

— ALE is LOW

So we can use D ok | D Q)
LATCHES to hold the ;
address data when 1
ALE goes LOW !
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From this weeks lab:




